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PHILOSOPHY — GENERAL
Paper : SEC-A-1
(Logical Reasoning and Application)
Full Marks : 80

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10

(a) ‘The hill has fire, because it has smoke.” In this inference ‘hill’ is the
(i) paksa (i) sadhya
(iii) hetu (iv) none of these.
(b) What is the operative relation (sannikarsa) for the visual perception of the colour of a pot?
(i) sarhyoga (i) samyukta-samavaya
(iii) samavaya (iv) sarhyukta-samvaveta-samavaya.
(c) The operative relation (sannikarsa) for the perception of the absence of a pot on the ground
(i) sarhyoga (i) sarmyukta-samvaya
(iii) samavaya (iv) visesana-visesya-bhaba.
(d) According to modern Naiyayika, the probans (hetu) is of
(i) two types (i) three types
(ii)) four types (iv) five types.
(e) ‘Sound is eternal, because it has soundness.’— this is an example of
(i) sadharana sa-vyabhicara hetvabhasa (i) a-sadharana sa-vyabhicara hetvabhasa

(iii) anupsarhhari sa-vyabhicara hetvabhasa (iv) badhita hetvabhasa
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(f) That which is characterised by the certain absence of the probandum (sadhya) is the
(1) paksa (i) sapaksa
(iii) vipaksa (iv) none of these.

(g2) ‘Analogical arguments are not to be classified as either valid or invalid. Probability is all that is
claimed for them?—this statement is

(1) true (i) false
(iii) impossible (iv) meaningless.

(h) Determine the fallacy : ‘The universe is spherical in form, therefore all the constituent parts of the
universe, that is the Sun, the Moon, and the planets appear spherical.’

(i) The fallacy of composition (i) The fallacy of division
(ii)) the fallacy of equivocation (iv) The fallacy of relevance.

(i) ‘Earth and Mars—both planets revolve around the sun and borrow light from it. They, in their motion,
are subject to the same law of gravitation. The earth is habitat of living creatures. Therefore, the
Mars also is habitat of living creatures.”— this is an example of

(1) deductive argument (ii) induction per simple enumeration

(iii) analogical argument (iv) none of these.
(j)) How many criteria are used in judging the worth of explanation (hypothesis)?

(1) Two (i) Three

(ii)) Four (iv) Five.
(k) The primary reasoning process in law is

(i) inductive method (i) deductive method

(iii) both inductive and deductive method (iv) none of these.
(I) Scientific explanation means

(1) a fact explained by the scientists.

(i) explanation of a particular scientific theory.

(iii) explanation (of a fact) which is verifiable, logical and relevant.

(iv) none of these.

2. Answer in brief (any five) : 5x%5
(a) What is paksa, sadhya and hetu? Explain with an example.
(b) Explain the Kevala-vyatireki anumiti with a suitable example.

(c) Identify the paksa, sadhya, and hetu of the following inferences (afiumiana) and determine the
hetvabhasa (fallacy). — ‘Sound is eternal, because it is produced.’
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(d) Distinguish between good analogy and bad analogy.

(e) What is the fallacy of ambiguity? Explain with an example.

(f) Describe in brief the method of inquiry as used in legal process.

(g) Distinguish between ‘acts of commission’ and ‘acts of omission’ with suitable examples.

(h) What is meant by ‘standards of proof’?

Answer any three questions :

(a) What is laukika sannikarsa (ordinary operative relation)? Discuss with examples, different types of
laukika sannikarsa. 3+12

(b) What is meant by hetvabhasa? Explain three types of asiddha hetvabhasa with examples.  3+12

(c) What is fallacy of relevance? Explain any two types of fallacy of relevance with suitable examples.

5+10
(d) What is explanation? Distinguish between scientific and unscientific explanation. 3+12
(e) Discuss in detail, the criteria for appraising analogical arguments. 15

(f) What do you mean by ‘remote cause’ and ‘proximate cuase’? Explain the concept of ‘cause as a
necessary condition’ and ‘cause as a sufficient condition’ as applied in legal reasoning. 6+9




